COLUNTCQX

SERVICE BULLETIN 14-T3-27

DATE: 03\07\2014

MODELS CONCERNED: MK3 Scarifier, 300 Litre PGC & Spreader

MK4 B Series B60-4TRAC, B250-4TRAC / C Series C50,
C60, C80/ F Series F60-4TRAC, F250-4TRAC / T Series
T50, T60 & T80.

CONCERN: Pre 2014 model accessories require an additional cable plug
in order to function with MK4 tractors.

Cable Plug
This service bulletin is an update to bulletin 14-08-34. The kits explained in the previous document are valid

for MK4 tractors built up until 16th June 2014. This announcement shows new kit requirements for tractors
made from June 16th. This service announcement replaces bulletin 14-T3-25. The information laid out in the
previous bulletin is now obsolete.

Problem

The 2014 MK4 tractor is designed with added safety features not found on earlier models. 2014 rear mounted,
belt driven accessories will not function without a safety cut out switch that plugs into a rear tractor port.
Accessories made before 2014 lack the necessary cut out switch and will require a cable plug to function with
the new tractor.

Model Part Required Part No. Kit Part No.

Cable Plug 449882000

Scarifier M8 x 20 Bolt 019483600 50100048
M8 Nyloc Nut 049383700
Cable Plug 449882200

PGC (300L) M5 x 16 Bolt 02912200 50100049
M5 Nyloc Nut 04885900
Cable Plug 449882200

Spreader M5 x 16 Bolt 02912200 50100049
M5 Nyloc Nut 04885900

Date: 24/06/2014 Page 1



Fitting Instructions

1. Fitthe loop end to the accessory (PGC / Scarifier / Spreader).

Secure the cable plug using the unused bolt hole and kit fixings (see diagrams below).

3. Link the plug to the tractor by connecting the plug end with the tractor socket mount (see diagram

below).
Scarifier Diagram

ONNECT PLUG END
¥ 10 TRACTOR SOCKET
2 MOUNT POINT

PGC Diagram

ONNECT PLUG END
= TO TRACTOR SOCKET
‘I MOUNT POINT

CONNECT BOLT
END TO PGC

Spreader Diagram
s i 74
CONNECT PLUG END
~ TO TRACTOR SOCKET
_ MOUNT POINT

N CONNECT BOLT
|| END TO SPREADER

[

Date: 24/06/2014

Page 2



	DATE: 03\07\2014

